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inf ra wvix

s = —500%, m = 0.0005

A=10",n= ;1

Iog(k—2
n 5= AIE £ M7 T {LL R

20000({0.101794846119901852D+02 |0.101794845734671959D+02
30000({0.152693067851922386D+02 0.152693067595264598D+02
40000]0.203591289648179377D+02 [0.203591289455857201D+02
50000({0.254489511470131227D+02 ]0.254489511316449821D+02
60000({0.305387733304930542D+02 |0.305387733177042442D+02
70000[{0.356285955147071292D+02 ]0.356285955037635063D+02
80000]0.407184176993800477D+02 (0.407184176898227719D+02
90000{0.458082398843588621D+02 0.458082398758820304D+02
100000({0.508980620695518056D+02 ]0.508980620619412960D+02
110000(0.559878842549004716D+02 ]0.559878842480005545D+02
120000{0.610777064403659367D+02 0.610777064340598201D+02
130000({0.661675286259212498D+02 |0.661675286201190858D+02
140000(0.712573508115471554D+02 ]0.712573508061783372D+02
150000({0.763471729972295208D+02 10.763471729922376028D+02
160000({0.814369951829577872D+02 ]0.814369951782968684D+02
170000({0.865268173687238260D+02 ]0.865268173643561340D+02
180000(0.916166395545213561D+02 ]0.916166395504153854D+02
190000(0.967064617403454179D+02 |0.967064617364746510D+02
200000/0.101796283926192004D+03 ]0.101796283922533917D+03
210000/0.106886106112057917D+03 ]0.106886106108593182D+03
220000](0.111975928297940513D+03 ]0.111975928294652434D+03
230000|0.117065750483837618D+03 ]0.117065750480711699D+03
240000|0.122155572669747428D+03 ]0.122155572666770965D+03
250000]0.127245394855668394D+03 ]0.127245394852830231D+03
260000]/0.132335217041599265D+03 ]0.132335217038889482D+03
270000(0.137425039227538889D+03 ]0.137425039224948762D+03
280000/0.142514861413486386D+03 ]0.142514861411008013D+03

290000

0.147604683599440904D+03

0.147604683597067265D+03

300000

0.152694505785401759D+03

0.152694505783126544D+03
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x5570 0.191143398445070834D +07 0.140633312313127879D -05
x2670 0.191143398444577885D +07 0.210270925388344072D - 07
sr16000 0.191143398444582948Q + 07 0.156658222921909210Q - 05
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x5570  0.190895950695064375D +09  0.919500023320091177D - 01
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x5570 0.190871021209837876D +11 0.771928148538333458D + 04
x2670 0.190871096344010433D +11 0.183847060803184605D + 03
sr16000 0.190871111864473018Q +11 0.190871121114962521Q +11

(B)SR16000TIIBIZEILD/NINEFEHH S,

ELHOTULET,




HESR16000TDHD VDB TDa ,,a ,a l%
L FORRIZIZ>TVWE T,

ramda=107{-16}~10~[-30}

a2= 4.00000344724677645844034046757416
al= 3.99861407619387554668745765583265
a0= -12.2639453402406000000000000020020

ramda=107{-31}~10~[-45}

a2= 4.00000099577869056434484930528836
al= 3.99939509233538395973479843855165
a0= -12.3269905127989999999999999759162

ramda=10"{-46}~10~[-60}
a2= 4.00000041264201279800645140064705

al= 3.99966395945103743579061852729121
a0= -12.3581962818229999999999999796046




ramda=107{-61}~10~[-75}

a2= 4.00000019676625921874246419452751
al= 3.999794900923913886687/93381657374
a0= -12.3781474808740000000000001848136

ramda=107{-76}~10~[-90}

a2= 4.00000014459869220092907590162562
al= 3.99983240900972265003642249066011
a0= -12.3848690023040000000000001603800

rambda=107{-91}~107{-105}

a2= 4.00000003694782985017339116664484
al= 3.99996494892422507975597908036244
a0= -12.4154587133217526000000000000001

k@lﬁiﬁd\é(?’lélic‘f
ald - ? + AT TOVETS,




3sin caRBEEEIZ X B Hadamard B BRER 512
Y CRIBN IR TH IR R A EDD
BE&OHRY, BRI Piaa ek
¥ 791819924E206 - 219
Hadamard G RRER 2B 35 DEAF
wa bR, IRIERH, ZFIER
CERARZ2I 2B E T 228
OEEMOLL T ORIE ZRRELEL 2,

1

£.p.f F(X}f)zdx, F(Z)=(l—2) (1+2)*

-1 —

ﬁﬁfﬁ:—ga—x)f(lwf

BRi=h 3 F((xxk>/_¢7lgzxk)

oot HIF () - )

n*[md(2)/h]

F(A)}
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SE:x = tanh(E) d(x) = |09(—) ¢'(x) = 1—

1
2(1—7)* 1+ 2)*
X =1—¢g,—1+ 2755t
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3.3
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BREBRXBNIET[-1+¢1-¢]

g=2"" 2: LTL ‘i-ﬂ—o

ARRE-ER

DE(R &% L)

DE(REHY)

sinc (DE)

sinc (SE)

-0.9

0.1400D-04

0.1382Q-06

0.8469D-21

0.1825D-21

-0.8

0.6763D-06

0.5489Q-11

0.6245D-24

0.4563D-22

-0.7

0.5165D-06

0.3596Q-14

0.1757D-24

0.2028D-22

-0.6

0.2143D-06

0.2125Q-15

0.1855D-25

0.1143D-22

-0.5

0.6756D-07

0.1301Q-15

0.9166D-26

0.7301D-23

-04

0.3159D-07

0.4492Q-17

0.6154D-26

0.5070D-23

-0.3

0.1333D-07

0.1588Q-16

0.4696D-26

0.3714D-23

-0.2

0.3104D-07

0.2240Q-16

0.5978D-26

0.2852D-23

-0.1

0.1650D-07

0.7873Q-17

0.2845D-26

0.2253D-23

0.1

0.2247D-08

0.4837Q-20

0.1905D-26

0.1508D-23

0.2

0.1024D-07

0.1085Q-17

0.1217D-25

0.1268D-23

0.3

0.1762D-06

0.1065Q-17

0.1360D-26

0.1050D-23

04

0.7024D-06

0.2245Q-17

0.1172D-26

0.9314D-24

0.5

0.9061D-07

0.1208Q-16

0.1010D-26

0.8110D-24

0.6

0.7005D-06

0.1356Q-15

0.1099D-26

0.7211D-24

0.7

0.1890D-06

0.5910Q-14

0.5852D-25

0.6299D-24

0.8

0.2144D-06

0.3936Q-11

0.2826D-24

0.5632D-24

0.9

0.5647D-06

0.1723Q-06

0.1583D-21

0.5057D-24
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4 BERBEAESATE

BB 5 XTI ST ISUVTPEBLBEDS R DI/ E D
HIZE HEFLDMBEHNG IR L /RVE T DT  ERRIREFHL XKL 72
AEZEZMITLEIT

ZEERERBRREI1Z=I1X—-1Y (X>1Y >0)DH5HE
HIAE Y NI ZE B D 60E Y RDOAEH T B LET,
4.1 3IRBTRHEE

EeAEC 2
1Z(2) = 222 1Z(2) = 1Z2(2) —2%* K& LRl .
FLDALE1Z(1)(1:1)
22t <1Z2(2) <22 1Z2(2) = 1Z(2) — 2%  FLDAEE1Z21)(0: 0)
Fb & 1Z2(2) =2 HIEBI/RL.
1Z(2) = 2% Hi&ED1L
22 < 1Z2(2) <2 1Z2(2) =1Z(2) — 2% ZEbL2 DL
1Z2(2) < 2?° 1Z(ikk) = 1Z(ikk) — 2
Hi?dEd 82— (ikk —1) x60 —ik
FD7EL . (A <ikk <2,0<ik <59)

4.2 SEEFREEE

EAE 3
1Z(3) = 2% 1Z(3) =1Z(3) —2* K& B/ .
FLIDDLE 1Z(D)(A: 1)
2?5 <1Z2(3) <2 1Z(3) =1Z(3) —2%° FLDHIE1Z2(1)(0:0)
b 1Z2(3) = 2* HIEBRL
1Z(3) = 2*° K& D1
22 <1Z(3) < 2*® 1Z(3) =1Z(3)—2* HEHL2 FD/TL
1Z(3) <2 1Z(ikk) = 1Z(ikk) — 2
i &b 146 — (ikk —1) <60 — ik
7L, (@A <ikk <3,0<ik <59)




4.3 6f5kSEE

ECHIEC 3
1Z(3) = 258 1Z(3) = 1Z(3) — 2% HFEDBIL .
FLIDALE 1Z(1)(A:1)
2% < 1Z2(3) < 2°® 1Z(3) = 1Z2(3) — 2° FLDALE1Z2(1)(0: 0)
FDH# 1Z2(3) =2 HI¥EHB/IL .
1Z(3) = 2°° HiZEbH1
2% <1Z2(3) < 2~ 1Z(3) = 1Z2(3) — 2°° HiZ&ED2 FLad/L
1Z(3) < 2°° 1Z(ikk) = 1Z(ikk) — 2%
g 178 — (ikk —1) x60 — ik
FLD/EL . (@A <ikk <3,0<ik <59)

4.4 7fEkERE
ECE 4
1Z2(4) = 2°° 1Z2(4) = 1Z2(4) — 2%  H#EBIL .
FDAZE 1Z(D)(A: 1)
22 < 1Z(4) < 2% 1Z2(4) = 1Z2(4) — 2*° FLIDALE 1Z2(1)(0 : 0)
FLad B 1Z2(4) = 2 HiZEHB/RL
1Z(4) = 2%° Kbl
228 < 1Z2(4) < 2*° 1Z2(4) = 12(4) — 2 K& HB2 Fd/RL
1Z(4) < 2°® 1Z(ikk) = 1Z(ikk) — 2%
i #&H 210 (ikk —1) <60 —ik
FL7EL. @A <ikk <4,0<ik <59)




5. IRMEBDEYIIEFEAEDAE
JEXRFITIIDRIERETEAL Z={RIEBD
EVMERELRBEDAEERBNLET,

REERDOE S BIZ I SR F[DOIBPEOMHT _ BivEFILdD
S EERBPEEZ = IX<I1Y (IX>0I1Y >0)D%sH
AR B R B YDA EH T DIEET .
TFEIMEYH IBEIERSEY N2 E.

[@H]]0] =2 )
B 5
1Zz(5) =2 Hi_EAAVHY  FDALEIZ(3)(0:0)
1Z(5) <2 Hi_ B30/l  FDALEIZ(2)(29:29)
(2)64E
BC IR 5
1Z2(5) = 2° Hi_EAVHV  FRDALEIZ(3)(4: 4)
1Z2(5) < 2° Hi_EAV/ZL FOPLEIZ(3)(3:3)
(3)68E >k
Be A % 5
1Zz(5) = 2" Hi_EAVHY  ROALEIZ(3)(8:8)
1Z(5) <27 ¥ EAV/ZL FDOALBEIZ(3I)(7:7)
(D72 2k
BC I 5
1Z2(5) = 2*° Hi_ EAVHY  FRDALEIZ(3)(12:12)
1Z2(5) < 2*° Hi_ EAV72L FDOALEIZ(3)(11:11)
(5)76E > b
B % 6
1Z2(6) = 2° #HI_EAVDHY FDOHLEIZ(3)(16:16)
1Zz(6) <2° HiI_EAV/ZL FDOALEIZ(3)(15:15)




6 DD,D (long double) DQDI 51 {LXE

E5-2670,E5-2660,Phi5110PEFET2DNES
DHTRI EFAZEALR MLIHEHIREHT

T=DIHERL =) —ADXEER/IMLET .

6.1 FORTRAN

(1) IE c=a+b

t6=(p2-(t4-t5))+(q2-t5)
t7=t3+t4+t6

(2)iBE c=a-b

pl=a(1) pl=a(1)

p2=a(2) p2=a(2)

ql=b(1) ql=b(1)

q2=b(2) q2=b(2)

tl=pl+ql tl=pl-ql

t2=t1-pl t2=t1-pl
t3=(p1-(t1-t2))+(ql-t2) t3=(p1-(t1-t2))-(q1+t2)
t4=p2+q2 t4=p2-q2

t5=t4-p2 t5=t4-p2

t6=(p2-(t4-t5))-(q2+t5)
t7=t3+t4+t6

t8=t1+t7 t8=t1+t7
t9=t8-t1 t9=t8-t1
t10=(t1-(t8-t9))+(t7-t9) t10=(t1-(t8-t9))+(t7-t9)
c(1)=t8 c(1)=t8

c(2)=t10 c(2)=t10




(3)F’E c=a*b

pl=a(1)

p2=a(2)

ql=b(1)

q2=b(2)

tl=pl*qgl

t2=pl*r

al=t2-(t2-p1)
a2=pl-al

t3=q1*r

b1=t3-(t3-q1)
b2=qg1-bl
td=((al*b1-t1)+al*b2+a2*b1)+a2*b2
t5=t4+pl1*q2
t6=t5+p2*ql
t7=t6+p2*q2

t8=t1+t7

t9=t8-t1
t10=(t1-(t8-t9))+(t7-t9)
c(1)=t8

c(2)=t10

r =134217729 = 2% + 1(fZ K5 HE)
r=2°" + (M5 E)




(4)FRE c=a/b

p3=a(1)

p4=a(2)

q3=b(1)

g4=b(2)

ts=p3/q3

gl=ts*q3

g2=ts*q4

pl=p3

p2=p4

tl=pl-ql

t2=t1-p1l
t3=(p1-(t1-t2))-(g1+t2)
t4=p2-92

t5=t4-p2
t6=(p2-(t4-t5))-(q2+t5)
t7=t3+t4+t6

t8=t1+t/

tl=ts

t7=t8/q3

t8=t1+t/

t9=t8-t1
t10=(t1-(t8-t9))+(t7-t9)
c(1)=t8

c(2)=t10




6.2 C

(1) INE cl=workl1l+work12

pl=work11[O] ;
p2=work11[1] ;
ql=work12[0] ;
q2=work12[1] ;
tl=pl+ql ;
t2=tl-p1 ;

t3=(p1-(t1-t2))+(ql1-t2) ;

t4=p2+q2 ;
t5=t4-p2 ;

t6=(p2-(t4-t5))+(q2-t5) ;

t7=t3+t4+t6 ;
t8=t1+t7 ;
t9=t8-t1 ;

t10=(t1-(t8-t9))+(t7-19) ;

c1[0]=t8 ;
c1[1]=t10;

(2)iE workl=one-xx

pl=one[0] ;
p2=one[l] ;
ql=xx[0] ;
q2=xx[1] ;
tl=pl-ql;
t2=tl-p1;

t3=(p1-(t1-t2))-(ql+t2) ;

t4=p2-92 ;
t5=t4-p2 ;

t6=(p2-(t4-t5))-(q2+t5) ;

t7=t3+t4+t6 ;
t8=t1+t7 ;
t9=t8-t1 ;

t10=(t1-(t8-t9))+(t7-19) ;

work1[0]=t8 ;
work1[1]=t10;




3)FEH work3=workl*work2
(3)

pl=work1[0] ;
p2=work1[1] ;
gl=work2[0] ;
g2=work2[1] ;
tl=pl*qgl ;

t2=pl*r ;
al=t2-(t2-pl);
a2=pl-al ;

t3=q1*r ;
b1=t3-(t3-q1);
b2=q1-bl ;
td=((al*b1-t1)+al*b2+a2*b1)+a2*b2 ;
t5=t4+pl1*q2 ;
t6=t5+p2*ql ;
t7=t6+p2*q2 ;
t8=t1+t7 ;

t9=t8-t1 ;
t10=(t1-(t8-t9))+(t7-t9) ;
work3[0]=t8 ;
work3[1]=t10;

r =134217729 = 2% + 1(fZKE )
r = 8589934593 = 2% + 1(PLIRAT S EE)




(4)BRE w3=work8/work2

p3=work8[0] ;
p4=work8[1] ;
g3=work2[0] ;
gd4=work2[1] ;
ts=p3/q3 ;

gl=ts*q3;

g2=ts*q4 ;

pl=p3;

p2=p4 ;

tl=pl-ql;

t2=t1-p1;
t3=(p1-(t1-t2))-(gq1+t2) ;
t4=p2-92 ;

t5=t4-p2 ;
t6=(p2-(t4-t5))-(q2+t5) ;
t7=t3+t4+16 ;

t8=t1+t7 ;

tl=ts;

t7=t8/q3 ;

t8=t1+t7 ;

t9=t8-t1 ;
t10=(t1-(t8-19))+(t7-19) ;
w3[0]=t8 ;

w3[1]=t10 ;




